
 45.05  101.80  10.18 

 157.03 

 4
0 

 1/4"-20 5 

4 +
 
0.02
0 5 

 M3 4.5  2pl 

 5.50 
 13  14 

 1
6 

 M2.5 3  2pl 

 62.40 

 6
1.

80
 

 3
3.

43
 

56.30 

 4
9.

14
 

 120° 

REVISIONS
ZONE REV. DESCRIPTION DATE APPROVED

ITEM 
NO. PartNo DESCRIPTION QTY. Revision

1 Sensor 19 PCB 1
2 Sensor 19 1
3 MP0108 Poron 19 1 A
4 Washer DIN 125 - A 2.2 5
5 Screw M2x4 DIN 912 1
6 Screw M2x6 DIN 912 4
7 MP0103 Board Support 2 B
8 BOTTOM BOARD 1 AC
9 2

10 2
11 PART-_QSH-030-01-D_terminal-DESC 1
12 PART-_T-1G2-01-030-DESC 1
13 PART-_C-126-21-030-D-DESC 1
14 1
15 4
16 1
17 1
18 1
19 1
20 1
21 3
22 1
23 FLANGE FOR LENS (NIKON Rework) 1 01
24 Screw M1.6x3 ISO 1580 4
25 Screw M2.5x4 DIN 912 4
26 MP0104 Camera Base 1 C
27 HR10A-7R-6P Connector 1
28 MP0105 Back Flange B 1 A
29 MP0106 Camera Cover 1 B
30 Screw M1.6x4 ISO 7046 8
31 Fan 20x20x8 1
32 Screw M2x10 ISO 7045 4
33 Parallel Pin 2.5x6 ISO 8734 4
34 Screw M2.5x6 DIN 912 4
35 MP0117 Front Flange 19 RF 1 A
36 1
37 MP0116 Nikon Lens Holder RF 1 A
38 Screw M2.5x5 DIN 912 4
39 1
40 Harwin R30-3000802 M3 Spacer 2
41 Harwin R30-3001002 M3 Spacer 4
42 Screw M3x5 ISO 7045 2
43 Harwin R30-3001002 M3 Spacer 4
44 Screw M2x5 ISO 7045 2

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

REV.

SHEET 1/1 

DWG  No

ASSY:

25.06.2018

APR.
CHK.
DRW.
DSG.

JetCam

JetCam 160

PROJECT:

PART NAME:

QTY.  1

1:1
SCALE:

A3

GENERAL TOL:

LENGH: 0,1
HOLE CENTERS: 0,1
HOLE DIA:            0,1
ANGLES: 0,5

DIMENSIONS IN mm
BEFORE COATING 
AFTER COATING    

FINISH:

MATERIAL:

E

MP00025.06.2018

3.2

M. Sister
M. Sister A
M. Yampolsky
M. Yampolsky

Weight

KAYA instruments Ltd
THE INFORMATION CONTAINED IN THIS DRAWING
IS THE SOLE PROPERTY OF KAYA instruments.
ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF KAYA 
instruments IS PROHIBITED.

Sky Blue Microsystems GmbH
Geisenhausenerstr. 18
81379 Munich, Germany
+49 89 780 2970, info@skyblue.de 
www.skyblue.de

International Distributor


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


